p. 372 in the text (REMEMBER: THE DC {DOUBLE CHECK} substitute the answer back into the balanced equation!



a)       -6 – x = -9				/  	-6 + (-x) = -9
-6 – x + x = -9 + x
             -6 = -9 + x
       -6 + 9 = -9 + x + 9
               3 = x


b)       -2 – x = 3                                  	/ 	-2 + (-x) = 3
-2 - x + x = 3 + x
             -2 = 3 + x
       -2 – 3 = 3 + x – 3
   -2 + (-3) = x
              -5 = x

c)        5 – x = -7				/ 	5 +(-x) = -7
  5 - x + x = -7 + x
              5 = -7 + x
       5 + 7 = -7 + x +7
           12 = x


d) 7 – x = -9					/	      7 – x = -9
[bookmark: _GoBack]7 – x + x = -9 + x					7 – x – 7 = -9 - 7
7 = -9 + x             						  -x = -9 + (-7)
7 + 9 = -9 + x + 9						  -x = -16
16 = x					              - x / -1 = -16 / -1
								   x = 16


e)      -4 – x = 0				/ -4 + (-x) = 0
-4 –x + x = 0 + x
           -4 = x



f)       x – 3 = -7				/	 x + (-3) = -7
x – 3 + 3 = -7 + 3
             x = -4


g)       x – (-5) = 6
          x + 5 = 6
    x + 5 – 5 = 6 – 5
                 x = 1



h)      x – (-10) = 5
         x + 10 = 5
 x +10 – 10 = 5 – 10 
                  x = -5
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11. Find the missing integer in each.
a)—6-M=-9 b)-2-H=3
5-m=-7 d7-m=-9
e) 4-M=0 fm-3=-7
gl-{(-5)=6 h) B -(-10)=35




